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85-M/E — AT a9/ SOCIAL SCIENCE

[CEIEIE JAAT / Instructions to the Students :
1. N MEiRd Setedr =m=vl gRawl / we gRdededr waeT fdfeenTs

I 11 3Rl T AT LJ(I:c‘»("ﬁll QT SRIeT SSTEAT Shia=aTd STaeied

ST Tt fotel.
Write your eleven digit Register Number on the Question Booklet as

allotted in the admission ticket in the space provided at the top right
corner of this front page.

2. U YR fo%g I SRAN Wiet (9% ) XA STel 3. URIeT
g& IR 39T AN YA JReTel df IHSEdar e, TR JRAHE
e I FART 3Ted i ARG o qURA el

This Question Booklet has been sealed by reverse jacket. You have to cut
on the right side to open the Question Booklet at the time of
commencement of the examination. Check whether all the pages of the
Question Booklet are intact.

3. 3T TH. 3R, IR IR a7Te [ToEaR JRioel STEat.

OMR Sheet will be provided subject-wise separately.

4. U9 qRahd dF Oet fowern guey o ST uoie fowaren ave ue
Rl 3.

This set of Question Booklets consists of three core subjects and each
subject has separate Question Booklet.
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5.

T T 40 9 fSolel STed. @ Werl R JRAeHEl Tshedld 120

TIITE fehall FRER T9 3.

(i) TUTA - 49 SHHI 1 o 40 9Ad

(i) faam - w9 ®EF 41 9 80 T

(i) FETST forAT - U9 FHiE 81 d 120 TAd

40 questions are provided against each subject. This set of Question
Booklets contains 120 questions in all.

(i) Mathematics — Question Numbers 1 to 40
(i) Science — Question Numbers 41 to 80

(iii) Social Science — Question Numbers 81 to 120

IR TH 7 T SR, T SRR FIVE! FHRIEF o7 el SomR

TR

Each question carries one mark. Answering all the questions is

compulsory and each correct answer will be awarded one mark. There will
be no negative marking for wrong answers.

Tt ST,

a) U¥A FISAS aTe.

b) Todl / Flea et Uige == dIR e 3. TH. R, I UEAehmEeie
U9 ST foeg Hefd aie quidul RS / S &R, hIUE! A5
SEATATET WA % AR ST 3. UH, IR, IW ULHER BV
AGSS GO HS HhI.

IMEROT : TR JRAFHE TN TIFHG 20 o AFF IW C ITWA, T

3. T, AR, IR UBEhHE C 99T [Hes / FS St Uiee U a19% vifeT
.

USRI 20) @ © O (T %h 3[R AR )

O O @ O
) 3. TH. AR. IR ke Tl H1e] T fohal wIg 72 foha i AME .
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During the examination,

a) Read the questions carefully.

b) Completely darken / shade the relevant circle against Question
Number in the OMR Sheet using blue / black ball point pen. Do not

try to alter the entry and not to do any stray marks on OMR Sheet.

Example : In the question booklet, if C is the correct answer for

Question No. 20, then in the OMR Sheet shade the option C using

blue / black ball point pen as follows.

Question No. 20) @ @ @ ( This is an example only )
O O @ O

c) Do not fold, tear, wrinkle or staple on the OMR Sheet.

feciedn Uoe! Ueh UST SIRA akie 7SS hedd, o 3T gehid HFel STec

3T SHIUTRT U7 TSt SR AT

If more than one circle is shaded for a given question, such answer is

treated as wrong and no marks will be given.

foremelt anfoT ot TRieter e Shotodr fowml 31 UH. 3R, IR UBheR Tat
el

Student and Room Invigilator should sign in the OMR Sheet in the space

provided.
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10.

11.

12.

TRIeT BT Weval el IHRAR o iietehe fawaar STt 3. TH. 3R,
3TN 9Tt el

Candidate should return the subject-wise answered OMR Sheet to the

Room Invigilator before leaving the examination hall.

sheel ShTH e JReheAl el fSeied ST .

Rough work can be done in the space provided at the end of the Question

Booklet.

hoageieR, HeTSel, T Tl fhal TN VAT Foidei-oh SUROTHT I e
T qRETT .

Calculators, Mobiles, Smart Watches and any other electronic equipment

are not allowed inside the examination hall.
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fawg : wu faam=
Subject : SOCIAL SCIENCE

e 37X TasT v grTen fEeiedr ( OMR ) STX URThHed FHiesdn fehar
T T RS’ 99T SO Skt T 40 X 1 = 40

Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer and shade the correct option in the

OMR Answer Sheet given to you with a black / blue ball point pen.

40 x 1 =140

o ~ (N ¢ o b
il aHetel]l XA MR HelglX =vidld, IVl )

(A) STTRTLE YR AN g 8.
(B) Wth WHE HIT .
(C) THT HHAE TSTEMT Bl

(D) FRTIIAT=AT HEE ek i g,

Constantinople was considered as ‘The Gate of European Trade’ because it

was
(A) the centre for International Trade routes
(B) the only sea route

(C) the capital of Roman Empire

(D) the only source of resources of Europeans
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82.

83.

84.

qfeeaT SFAl-FRIST TFTET Vel AT T8 el —
(A) TG T (B) HIETEdT A8
(C) TSR T8 (D) TR 8

The First Anglo-Maratha War ended with the treaty of

(A) Bassein (B) Salbai

(C) Allahabad (D) Lahore

fETeT Sl T shetedl AR FRIEH 319 Toid —
(a) TEamTt SR (B) TTERI 3TETeTd
(C) ©iieh ST_TeId (D) IMRATT =TT

The civil courts established during the British period were known as
(A) Diwani Adalats (B) Fouzdari Adalats

(C) Lok Adalats (D) Shariyat Adalats

I ITCH-TGX ST [SIesTien STeaiaarg aeet, e RO —

(A) TidiET I8 B8R STAET RIS Hed

(B) Ufeedl SFAl-TRIST JHT UvTET ATl RITe hodH

(C) FRISIH! AT HIST TR

(D) HFETCIE HTUZUT Seheear

The British gained confidence during Second Anglo-Mysore War due to
(A) Haider Ali’s defeat at Porto Nova

(B) defeat of Peshwa in First Anglo-Maratha War

(C) Marathas signed Subsidiary Alliance

(D) Cornwallis captured Srirangapatna
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IR 3MYHF TRATAT FHESR SUE 3 ¢ IS Tl AT Sgen
I ST T & —

(A) ‘RIS TR Tl 3T SISO et
(B) TS WehtT U feAtee

(C) T &V T2 G el

(D) YS! TS & hedl

Dayanand Saraswati realised that the remedies to the maladies of India

are present in Veda so he

(A) declared ‘Back to Vedas’

(B) wrote Sathyartha Prakasha

(C) started Cow Protection Movement

(D) started Shuddhi Movement

feedl YR W= JETd 3199 A0S § Teh HRUT 3T —
(A)  FYOT SRR A
(B) & gHEISd s &I

(C) I AT e el

(D) 3T TRA T (S {eeniel Tniss gt AEid
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87.

88.

One of the causes for the failure of First War of Indian Independence

among the following, is

(A) it spread all over the country
(B) it was a well organised revolt
(C) it had no eminent leader

(D) many Indian kings were disloyal to British

TR LT U UfEet 3Tedet € Bl —
(A) T, 9. ST (B) gL SSA
(C) TTETHTE AR (D) TS FT A

The First President of the Indian National Congress was
(A) W. C. Bonnerjee (B) Surendranath Banerjee

(C) Dadabhai Naoroji (D) Gopal Krishna Gokhale

et Tent BT AT FaSHaaa! Bl —

(A) 3IRfER =" (B) TIUIE ST et

(C) Tes TR Teash (D) e oot X

The one who belongs to moderates among the following is

(A) Aurobindo Ghosh (B) Gopal Krishna Gokhale

(C) Bal Gangadhar Tilak (D) Lala Lajpat Rai
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90.
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TSI SURTE Feedes T IR SRIvaTS! & el —

(A) i AR (B) HIYH SCARHMI

(C) TSl SRS (D) T HeadTdTeT HIFTRIT
Gandhiji launched Champaran movement to support
(A) Indigo growers (B) Cotton growers

(C) Tadi growers (D) Tea Estate workers

TosA 2R Al ofelt ‘TReges’ & uedl fofcel WReRen Wd wuam
HRT —

() ST JTT EcThiS ATeT Teie IR

(B) TSI TURTT GeAWRTeT UIeieT S9auardrs]

(©) Tefewrian foRiuTa STHER e aTamat

o

(D) faRe TR afeshFR IPIfaUaEE]

Rabindranath Tagore returned his title ‘Knighthood’ back to British

Government because to
(A) support the Jallianwala Bagh massacre
(B) support Gandhiji in Champaran Satyagraha

(C) express his non-co-operation against British

(D) boycott of foreign goods
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91.

92.

93.

¢ al ’
HRAl™ Yledlsl Yo % Sled —

(A) TER TeTTdE T
(B) ST QTS =g A

(C) Tes TMER e

(D) SETERS 3TeghT

The Tron Man of India’ is

(A) Sardar Vallabhbhai Patel

(B) Netaji Subhash Chandra Bose
(C) Bal Gangadhar Tilak

(D) Babasaheb Ambedkar

TR IooeeT A7 Sauil STelrd STed —
(A) 26 3SR, 1950 (B) 26 3, 1950
(C) 15 3TRZ, 1950 (D) 26 STFERT, 1950

The Constitution of India was adopted on
(A) 26th October, 1950 (B) 26th August, 1950

(C) 15th August, 1950 (D) 26th January, 1950

ATRTIR T I 0T 5T ¥ ATel T et 37 —

(A)  STRET (B) SERIGETE

(C) SicitaeTs (D) U=ER

The objective of establishing Lokayukta institution is to check
(A) Communalism (B) Terrorism

(C) Regionalism (D) Corruption
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95.
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o . [ .
"«IIWI‘-IY’:Q' HER{eT dcAldl onxIX &l —

(A)

(€)

IR ST 475 (B) YR TIMOT A
TR ST < (D) WRe 37T Siefent

The Panchsheel principles were signed between

(A)

(€)

India and Nepal (B) India and Bhutan

India and China (D) India and Sri Lanka

TRAM M= Tediq S0 Shotel g ST Telle HREm

(A)

(B)

(€)

(D)

TR 0T TS e ST TieTs HIAaT]

QIod 30T ToSTaTR g 37T 9ieiTs, shiAET

TgTecl 30T ShRT ATg ST GieTg hRE]

TLHEAT STIVT YR N6 ST IIeTS HREH]

The Iron and Steel Industries established by India with the help of Russia

are

(A)

(B)

(€)

(D)

Bokaro and Bhilai Iron and Steel Industries
Salem and Vijayanagar Iron and Steel Industries
Bhadravathi and Bokaro Iron and Steel Industries

Rourkela and Durgapur Iron and Steel Industries
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96. YRATS TR EIROT AT AAH&! 3Tes@uard I —

(A) STISHIT T GROT

(B) TER FeeTdHTE Yeetid TS &R0

(C) -EEd TR gl

(D) HRTCHT ST TR gRoT

The Foreign Policy of India is also called as
(A) Foreign Policy of Ambedkar

(B) Foreign Policy of Sardar Patel

(C) Foreign Policy of Nehru

(D) Foreign Policy of Mahatma Gandhi

97. ST HHT WU —

(A) TR
(B) H&M Wi
(C) Qe

(D) TSI 30T 3T Hews

The World’s Parliament is
(A) General Assembly
(B) Security Council

(C) Secretariat

(D) Social and Economic Council
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T T’ 3T I FiAr gt —

(A) TH. S &l (B) STH® Wi

(€) fa=e == (D) STARIATA 8&
The word ‘United Nations’ was proposed by
(A) F.D. Roosevelt (B) Joseph Stalin

(C) Winston Churchill (D) Jawaharlal Nehru

1976 et HARAdl l-bl"l‘filif\l ST d]eT o Bl bR dIN hITITd HTedl —

(A) TR THh TIEIUT HIFST
(B) ITERICT gofeh HI&TUT hiIaT
(C) TISERI & TRETIT HIFRT

(D) TN geFeh TLEIUT HaT

Untouchability Crime Act was implemented in 1976 with necessary

changes as

(A) Consumer Rights Protection Act

(B) Untouchability Right Protection Act
(C) Criminal Rights Protection Act

(D) Civil Rights Protection Act
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100.

101.

102.

3refed ST FHITTRIY & WG Tef0T 3 —

(A) AR (B) R B
(C) Tl o D) Ffeed 3=
The main feature of unorganised sector labour is

(A) migration (B) job security

(C) leave facility (D) fixed wages

THT S ST ATS Hdedl T hel —

(A) BT TEHT (B) G TN

(C) oo T ISR (D) TH. . AsjgwEm
Narmada Bachao Andolana was led by

(A) Medha Patkar (B) Sundarlal Bahuguna
(C) Kerala Shastra Parishad (D) M. D. Nanjundaswamy
T W AR Fadd IR -

(A)  ehetet (B) TRIe

(€) T (D) st

Invisible hunger refers to
(A) hungriness (B) poverty

(C) malnutrition (D) richness
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104.

105.

85-M/E (RF/RR/PF/PR/NSR/NSPR)

Teg_ ferTe A1 AR SlesadTd —
(a) ferms B) fEHm
(C) TorEmies D) 9

The Greater Himalayas are also called as

(A) Himadri (B) Himachal
(C) Siwaliks (D) Doons

74 Herdier o 39 e

(A) 3T (B) 3T
(C) STHTRIET (D) 3THREheh

The highest peak of the Eastern Ghat is

(A) Annamalai (B) Amrapali

(C) Arma Konda (D) Amarkantak

YRATIT FaTd ST g€ AT —

(A) RS B) fed=

(C) STHeR (D) ey
The coldest month in India is

(A) November (B) December

(C) January (D) February
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106. T AT &1 ST AT fesh=T Safet ot ot —
(a) feepe At ame
B) TTH FH 3T’

(C) S Ui d YsUT-d7 USIMd Hlcosd

(D) TR WS qhs
The black soil is highly retentive because it is
(A) extremely compact (B) black in colour

(C) found in heavy rainfall areas (D) pebbled rock particles

107. A0 YRATAT Fald ofiel a1 & 3 —
(A) R (B) FU

(€)=t (D) TR
The longest river in South India is
(A) Kaveri (B) Krishna

(C) Godavari (D) Tungabhadra

108. 3T AT BT YR ( 05 ) Fedid ST gl a1 3RUA STeesdrd —
(A) SR R (B) ii® R0
(C) SUTRCHT AT 3RVT (D) TSI T

The tree trunk supported by a number of stilt roots is found in the
(A) Mountain forest (B) Mangrove forest

(C) Tropical evergreen forest (D) Desert vegetation
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109. STTSHAI HecaTel Jg3e T Tar@ardiel AT &l 3% —

NRGEERISE (B) HTShT-ATTA JISTH]
(C) HUERR AT (D) NS HFR
The important multipurpose river valley project of Odisha is

(A) Hirakud (B) Bhakra Nangal

(C) Pampa Sagar (D) Nagarjuna Sagar

110. 3fcThe=a Ko AR Idl TR ! el 378 I HI0T —

(A) TERT g7 707 STfeardie qAadH.
(B) AR SIATdTR! iieh 3Tl e A ST,
(C) TAANE Selidiel Scdre-Tedl JFTO e,

(D) TR TRM Il ATBR 3.

Shifting cultivation in India is declining nowadays because

(A) of the governmental policies and tribal settlements

(B) people have now started coming out with commercial farming
(C) there is no demand for the products of shifting cultivation

(D) people are abandoning agriculture
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111.

112.

‘AT iR el & 3 —

(A)

€)

HTeze (B) T
EAGCa| (D) T2E

The ‘Silicon Valley of India’ is

(A)

(€)

Mangaluru (B) Mumbai

Kolkata (D) Bengaluru

JHUTeR WAL 3UT 8T T 3T —

(A)

(B)

(€)

(D)

fep TR =2 F9Te Seg@TeR Sl Hero.
ST el STET=4 @Rl WEUar JATE Yo,

One of the preventive measures for the earthquake's effects among the

following is

(A)

(B)

(€)

(D)

constructing retention wall
restrict sand mining in coastal areas
developing mangrove forests along the coast

restriction on digging of deep wells for underground water
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113. U au=ql HEdld 1 S0 Sced olodl ¥8 % o ardl Uo7 fhad

114.

115.

RS —

(A) STSIT 3. (B) WcTeT AT 3o

(C) TETOTETT= TS (D) SST=AT SRR GYET.

The total value of all goods and services produced in a country during one
year is

(A) Per capita income (B) Real national income

(C) Standard of living (D) Purchasing power parity

U @RS & Gehou T Il 3T —

(A) STARIAT 8& (B) 93 TR T5h

(C) TER TeAdHIE U (D) HETcHT et

Gram Swarajya was the concept of

(A) Jawaharlal Nehru (B) Bal Gangadhar Tilak
(C) Sardar Vallabhbhai Patel (D) Mahatma Gandhi
STeRT TR AT UheT i@ qTet ST

(A) et ) o

(C) TS I (D) TEUTHMTET g1

When the National Income is divided by the total population it is
(A) Underdevelopment (B) Development

(C) Per capita income (D) Standard of living
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116. hTTT 3TU] IS TehoHTell ATeAT Jcar@lel foRTe HI0amd STell —

117.

(A)

(€)

eI ST (B) . RIeR™ HRY

e qIeehy (D) df. =l FRY

Establishment of Kaiga Nuclear Power Plant was opposed under the

leadership of

(A)

(€)

Sundarlal Bahuguna (B) Dr. Shivaram Karanth

Medha Patkar (D) B. V. Karanth

XEST 15 A1 81 5o S Tee 5 WU HIeRT Hvare SR

(A)

(B)

(€)

(D)

7 feerdl . U, shel Il Uigeh goehidl Wih hodl

7 el Seied UEhid gk HINd shol

15 A TSI WIRh IATHAT UEeh goh STIel. shed
7 feadt ek oTeToT=h goand et

15th March is observed every year as ‘World Consumers Day’ because

(A)

(B)

(€)

(D)

John F. Kennedy accepted the Consumer rights on this day.
England declared the Consumer rights on this day
UN declared Consumer rights on 15th March

Consumer Education was started on this day
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119.

120.
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YREATT a7 I Mgk TXEI0T SHIART ST ST —
(A) 1966 (B) 1976
(C) 1986 (D) 1996

The Consumer Protection Act was passed in India in the year

(A) 1966 (B) 1976
(C) 1986 (D) 1996
STl Sk 3T AT SiohoTl TeUTAT —

(A) eI (B) 3T 5
(C) T=E % (D) 3ITISEI

The Banker’s Bank is

(A) NABARD (B) Apex Bank
(C) Reserve Bank (D) IDBI

“ RIS FERTER” ¥ 3R —

(A) =TS (B) T

(C) Teweit (D) hieTeRT

The ‘Gateway of India’ is
(A) Chennai (B) Mumbai

(C) Delhi (D) Kolkata
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( FTT FHTHETST AT )

( SPACE FOR ROUGH WORK )
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( FTT FHHEIST AR )

( SPACE FOR ROUGH WORK )
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